Maths Year 1

5+3= 12+5= 10+ 3 =
7+2-= 16 +3 = 20+5=
9+5= 12+2= 7+10=
7+8= 11+8= 15+ 10 =
S+4-= 14 + 3 = 23+10=
5-2= 14 -7 = 15-10=
7-4= 15-6= 18-10=
8-5= 18-9= 12-10=
10-4 = 12-7 = 24 -10=
9-8= 19-8= 29-10=

Help the rabbit find the path through the mazes to the carrots by counting
on in fives from zero.
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Can you make every number from 1 to 10 by
choosing 2 numbers and adding or subtracting
them? You can use each number twice in one
calculation if you need to.

Times Tables Rockstars: { HYPERLINK "https://play.ttrockstars.com/auth/school/student"}




